

ACCELA GOVERNMENT AT CARAHSOFT

carahsoft.

11493 SUNSET HILLS ROAD | SUITE 100 | RESTON, VIRGINIA 20190 PHONE (703) 871-8500 | FAX (703) 871-8505 | TOLL FREE (888) 66CARAH WWW.CARAHSOFT.COM

TO:

Bob Russell

Deputy Director- Planning and Building Department

Humboldt County 3015 H St.

Eureka, CA 95501 USA

FROM:

Jennifer L. Reed

Carahsoft Technology Corp. 11493 Sunset Hills Road Reston, Virginia 20190

EMAIL:

RRussell@co.humboldt.ca.us

EMAIL:

Jennifer.Reed@carahsoft.com

PHONE:

PHONE:

(703) 889-9766

FAX:

(703) 871-8505

TERMS:

GSA Schedule No: GS-35F-0119Y

Term: December 20, 2011 - December 19, 2021

FTIN: 52-2189693

(707) 268-3701

Shipping Point: FOB Destination Credit Cards: VISA/MasterCard/AMEX

Remit To: Same as Above

Payment Terms: Net 30 (On Approved Credit)

End Date: 07/31/2024

Cage Code: 1P3C5 DUNS No: 088365767 Business Size: Other than Small

QUOTE NO:

QUOTE DATE:

QUOTE EXPIRES:

18332048 03/13/2020 06/26/2020

RFQ NO:

SHIPPING:

ESD

TOTAL PRICE:

\$1,650,614.96

Sales Tax May Apply		TOTAL QUOTE:		\$1,650,614.96		
LINE NO.	PART NO.	DESCRIPTION	- QUOTE PF	RICE	QTY	EXTENDED PRICE
		YEAR 1				The National Control of the Control
1	SS28000SU305	Single User SaaS - Accela Environmental Health 12 month Environmental Health pending GSA Accela Inc - SS28000SU305 Start Date: 08/01/2020 End Date: 07/31/2021	\$2,100.00	OM	30	\$63,000.00
		YEAR 1 SUBTOTAL:				\$63,000.00
		YEAR 2				
2	SS28000SU305R1	Single User SaaS - Accela Environmental Health 12 month (1st Renewal Term) Environmental Health pending GSA Accela Inc - SS28000SU305R1 Start Date: 08/01/2021 End Date: 07/31/2022	\$2,163.00	OM	30	\$64,890.00
		YEAR 2 SUBTOTAL:				\$64,890.00
		YEAR 3				
3	SS28000SU305R2	Single User SaaS - Accela Environmental Health 12 month (2nd Renewal Term) Environmental Health pending GSA Accela Inc - SS28000SU305R2 Start Date: 08/01/2022 End Date: 07/31/2023	\$2,227.89	ОМ	30	\$66,836.70
		YEAR 3 SUBTOTAL:	***************************************			\$66,836.70
		YEAR 4				
4	SS28000SU305R3	Single User SaaS - Accela Environmental Health 12 month (3rd Renewal Term) Environmental Health pending GSA Accela Inc - SS28000SU305R3 Start Date: 08/01/2023	\$2,294.72	ОМ	30	\$68,841.60



ACCELA GOVERNMENT AT CARAHSOFT

carahsoft.

11493 SUNSET HILLS ROAD | SUITE 100 | RESTON, VIRGINIA 20190 PHONE (703) 871-8500 | FAX (703) 871-8505 | TOLL FREE (888) 66CARAH WWW.CARAHSOFT.COM

LINE NO.	PART NO.	DESCRIPTION -	QUOTE PRI	CE	QTY	EXTENDED PRIC
	₩.E.	YEAR 4 SUBTOTAL:				\$68,841.60
	2	YEAR 5				
5	SS28000SU305R4	Single User SaaS - Accela Environmental Health 12 month (4th Renewal Term) Environmental Health pending GSA Accela Inc - SS28000SU305R4 Start Date: 08/01/2024 End Date: 07/31/2025	\$2,363.56	ОМ	30	\$70,906.80
	n.	YEAR 5 SUBTOTAL:				\$70,906.80
		YEAR 1				Ψ7 0,000.00
6	SS10APFMSLVR001- R2-1-120	Accela Civic Platform Silver - Subscription User Renewal - 12 Months (2nd Renewal Term) Building & Planning Accela Inc - SS10APFMSLVR001-R2-1 Start Date: 08/01/2020 End Date: 07/31/2021	\$2,106.01	GSA	45	\$94,770.45
CIT HOLD THE THE		YEAR 1 SUBTOTAL:	HIPAL			\$157,770.45
		YEAR 2				
7	SS10APFMSAS0001- R3	Accela Civic Platform - Subscription User Annual User Fee Renewal - 12 Months (3rd Renewal Term) Building & Planning Accela Inc - SS10APFMSAS0001-R3 Start Date: 08/01/2021 End Date: 07/31/2022	\$2,169.18	GSA	45	\$97,613.10
		YEAR 2 SUBTOTAL:				\$162,503.10
		YEAR 3				
8	SS10APFMSLVR001- R4-1-120	Accela Civic Platform Silver - Subscription User Renewal - 12 Months (4th Renewal Term) Building & Planning Accela Inc - SS10APFMSLVR001-R4-1 Start Date: 08/01/2022 End Date: 07/31/2023	\$2,234.26	GSA	45	\$100,541.70
		YEAR 3 SUBTOTAL:				\$167,378.40
		YEAR 4				
9	SS10APFMSLVR001- R5-1-120	Accela Civic Platform Silver - Subscription User Renewal - 12 Months (5th Renewal Term) Building & Planning Accela Inc - SS10APFMSLVR001-R5-1 Start Date: 08/01/2023 End Date: 07/31/2024	\$2,301.29	GSA	45	\$103,558.05
500 WHITE	0.00	YEAR 4 SUBTOTAL:				\$172,399.65
		YEAR 5				
10	SS10APFMSLVR001- R5-1-120	Accela Civic Platform Silver - Subscription User Renewal - 12 Months (5th Renewal Term) Building & Planning 6th Renewal term Accela Inc - SS10APFMSLVR001-R5-1 Start Date: 08/01/2024 End Date: 07/31/2025	\$2,370.33	GSA	45	\$106,664.85



ACCELA GOVERNMENT AT CARAHSOFT

carahsoft.

11493 SUNSET HILLS ROAD | SUITE 100 | RESTON, VIRGINIA 20190 PHONE (703) 871-8500 | FAX (703) 871-8505 | TOLL FREE (888) 66CARAH WWW.CARAHSOFT.COM

INE NO.	PART NO.	DESCRIPTION -	QUOTE PRICE		QTY	EXTENDED PRICE	
		YEAR 5 SUBTOTAL:				\$177,571.65	
		YEAR 1					
11	SS10APFMSLVR001- R4-1-120	Accela Civic Platform Silver - Subscription User Renewal - 12 Months (4th Renewal Term) Building & Planning Accela Inc - SS10APFMSLVR001-R4-1 Start Date: 08/01/2020 End Date: 07/31/2021	\$2,253.30	GSA	65	\$146,464.50	
		YEAR 1 SUBTOTAL:				\$304,234.95	
		YEAR 2		= 311311711			
12	SS10APFMSLVR001- R5-1-120	Accela Civic Platform Silver - Subscription User Renewal - 12 Months (5th Renewal Term) Building & Planning Accela Inc - SS10APFMSLVR001-R5-1 Start Date: 08/01/2021 End Date: 07/31/2022	\$2,320.89	GSA	65	\$150,857.85	
		YEAR 2 SUBTOTAL:				\$313,360.95	
		YEAR 3					
13	SS10APFMSLVR001- R5-1-120	Accela Civic Platform Silver - Subscription User Renewal - 12 Months (5th Renewal Term) Building & Planning 6th Renewal term Accela Inc - SS10APFMSLVR001-R5-1	\$2,390.52	GSA	65	\$155,383.80	
		Start Date: 08/01/2022 End Date: 07/31/2023					
	¥	YEAR 3 SUBTOTAL:				\$322,762.20	
		YEAR 4		***************************************	11-11-		
14	SS10APFMSLVR001- R5-1-120	Accela Civic Platform Silver - Subscription User Renewal - 12 Months (5th Renewal Term) Building & Planning 7th Renewal term Accela Inc - SS10APFMSLVR001-R5-1 Start Date: 08/01/2023 End Date: 07/31/2024	\$2,462.23	GSA	65	\$160,044.95	
		YEAR 4 SUBTOTAL:				\$332,444.60	
		YEAR 5					
15	SS10APFMSLVR001- R5-1-120	Accela Civic Platform Silver - Subscription User Renewal - 12 Months (5th Renewal Term) Building & Planning 8th Renewal term Accela Inc - SS10APFMSLVR001-R5-1 Start Date: 08/01/2024 End Date: 07/31/2025	\$2,536.10	GSA	65	\$164,846.50	
		YEAR 5 SUBTOTAL:				\$342,418.15	
		YEAR 1					
	SS10AACAPOP0001- R4-1-120	Accela Citizen Access - Subscription population Renewal - 12 Months (4th Renewal Term) Accela Inc - SS10AACAPOP0001-R4-1 Start Date: 08/01/2020 End Date: 07/31/2021	\$0.0344	GSA	12449	2 \$4,282.52	
		YEAR 1 SUBTOTAL:				\$308,517.47	
	Water-	YEAR 2		117		111	



ACCELA GOVERNMENT AT CARAHSOFT

carahsoft.

11493 SUNSET HILLS ROAD | SUITE 100 | RESTON, VIRGINIA 20190 PHONE (703) 871-8500 | FAX (703) 871-8505 | TOLL FREE (888) 66CARAH WWW.CARAHSOFT.COM

LINE NO.	PART NO.	DESCRIPTION -	QUOTE PRICE	QTY EX	TENDED PRICE
		YEAR 2 SUBTOTAL:			\$317,767.97
		YEAR 3			
18	SS10AACAPOP0001- R5-1-120	Accela Citizen Access - Subscription population Renewal - 12 Months (5th Renewal Term) Building & Planning 6th Renewal term Accela Inc - SS10AACAPOP0001-R5-1 Start Date: 08/01/2022 End Date: 07/31/2023	\$0.0365 G	SA 124492	\$4,543.96
		YEAR 3 SUBTOTAL:			\$327,306.16
		YEAR 4			
19	SS10AACAPOP0001- R5-1-120	Accela Citizen Access - Subscription population Renewal - 12 Months (5th Renewal Term) Building & Planning 7th Renewal term Accela Inc - SS10AACAPOP0001-R5-1 Start Date: 08/01/2023 End Date: 07/31/2024	\$0.0376 G	SA 124492	\$4,680.90
		YEAR 4 SUBTOTAL:	*		\$337,125.50
		YEAR 5			
20	SS10AACAPOP0001- R5-1-120	Accela Citizen Access - Subscription population Renewal - 12 Months (5th Renewal Term) Building & Planning 8th Renewal term Accela Inc - SS10AACAPOP0001-R5-1 Start Date: 08/01/2024 End Date: 07/31/2025	\$0.0386 G	SA 124492	\$4,805.39
		YEAR 5 SUBTOTAL:			\$347,223.54
21	OS-17-000-00-200	Envision Connect -Annual Licenses & Support Environmental Health Accela Inc - OS-17-000-00-200 Start Date: 05/01/2020 End Date: 07/31/2020	\$405.64 Of	M 13	\$5,273.32
22	OS-17-000-00-200	Envision Connect -Remote Annual License & Support Environmental Health Accela Inc - OS-17-000-00-200 Start Date: 05/01/2020 End Date: 07/31/2020	\$169.78 OM	M 10	\$1,697.80
23	OS-17-000-00-200	CERS EDT License Maintenance & Support Fee Environmental Health Accela Inc - OS-17-000-00-200 Start Date: 05/01/2020 End Date: 07/31/2020	\$53.90 OM	vi 13	\$700.70
24	AH-17-HSP-00- 300	Application Hosting (ASP) Annual Fee Environmental Health Accela Inc - AH-17-HSP-00-300 Start Date: 05/01/2020 End Date: 07/31/2020	\$2,105.35 ON	1	\$2,105.35
25	AH-17-HSP-00- 300	Accela Decade Envision Connect Hosting Per Inspector Environmental Health Accela Inc - AH-17-HSP-00-300 Start Date: 05/01/2020 End Date: 07/31/2020	\$102.67 ON	1 5	\$513.35

≅ Accela

GOVERNMENT - PRICE QUOTATION

ACCELA GOVERNMENT AT CARAHSOFT

carahsoft.

11493 SUNSET HILLS ROAD | SUITE 100 | RESTON, VIRGINIA 20190 PHONE (703) 871-8500 | FAX (703) 871-8505 | TOLL FREE (888) 66CARAH WWW.CARAHSOFT.COM

LINE NO.	PART NO.	DESCRIPTION -	QUOTE PRI	ICE	QTY	EXTENDED PRICE
		SUBTOTAL:		***************************************		\$10,290.52
		BRIDGE COVERAGE	iii			
	AH-17-HSP-00- 300	Accela Decade Envision Connect Hosting Agency Flat Fee Environmental Health Accela Inc - AH-17-HSP-00-300 Start Date: 05/01/2020 End Date: 07/31/2020	\$1,211.64	ОМ	1	\$1,211.64
		BRIDGE COVERAGE SUBTOTAL:		-111		\$1,211.64
27	OS-17-000-00-200	Annual Waiver of Subrogation Insurance Fee Environmental Health Accela Inc - OS-17-000-00-200 Start Date: 05/01/2020 End Date: 07/31/2020	\$71.30	ОМ	1	\$71.30
	AH-17-HSP-00- 300	Accela Decade Envision Connect Online - Hosted Environmental Health Accela Inc - AH-17-HSP-00-300 Start Date: 05/01/2020 End Date: 07/31/2020	\$1,100.86	ОМ	1	\$1,100.86
		SUBTOTAL:				\$11,462.68
		SUBTOTAL:		1		\$1,650,614.96
			TOTAL	L PRICE:		\$1,650,614.96
			TOTAL	. QUOTE	:	\$1,650,614.96

5 yr agreement